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empt to Count

t cluster center (by hand)

nce map from each pixel to the
er.

 Threshold on distances less than X, where X is
from 1-1000

» Bwlabel the threshold to get counts
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Distance Map

(Blue is close; red is far)
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Bar Graph of Counts
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Need to Solve

» Choosing the best spatial bin size for the
descriptor

» Choosing the cluster/s which are best for
counting

- Typically the average of the best clusters have
features (instead of being solid color)

— In different instances, these features are black
circles or some form of silhouette
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elp find the bin size or



	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11

